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UNIVERSITY OF NORTH BENGAL
B.A. General Part-II Examination, 2020

SANSKRIT

PAPER-IV (NEW SYLLABUS)
Time Allotted: 1 Hour Full Marks: 25
The figures in the margin indicate full marks.

The word limit mentioned below against each question to be strictly followed by the students:
1 mark-20 words / 2 marks-30 words / 3 marks-50 words /
5 marks-100 words / 10 marks-300 words.

Unit-1
1. 1. Explain any one of the following siitras : 2x1 =12
(a) ST
OESISNING]
(c) HISTR:
(d) g1 FoIfa

OR
II. Join the sandhi (any two): Ix2=2

(a) ST + T
(b) Gl + SUT:
(c) W + o
(d) Rra + ol

OR
III. Disjoin the sandhi (any two): Ix2=2

(a) JMFHAN
(b) TTeBfa:
(ORIRER

(d) & + Tl

2. Define and illustrate (any one): 3x1 =3

fe , FarT | ergATRI® |, o |
OR
3. Give the resulting forms (any three): 1x3=3

(a) 1 + FRR
(b) P + Hag
(c) BH-P + 37
(d) 91 + Iq
(e) ¥q + FY
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g + 219
ad® + Sy
P + 7Iq

Unit-11
Describe the story of 99, ®Tdh and 3[7TTel. What are the main JU<Ts in this story?
OR
IR WAfRARIR [gge Udd "8 Udhcigel: | IR Pley  qagiauTdlg
TITEIAT SREIEl 9 ek Ufrasife | 31 Ul qooiid-rl JgerdTiRe:
aferor. wareRIe e ffigeye el | dml Siiafe | Smaei & = BRI |

Unit-111

Translate into Sanskrit any #wo of the following:

The hermitage of the great sage Kanva was on the bank of Malini river. One day
king Dusyanta while pursuing a deer, arrived there. He saw Sakuntala brought up
as a daughter by Kanva, there.

T2fY Few oy foe T wRe S g AE qRre aFT 2R SR e
FACS PRI Goif%® 20 | (1A T 0ea FapRace! #Aifete *F@encd @ate (AT |

Knowledge is power. Ignorance is the root of evil. Without knowledge man is
almost a wild beast.

@ig ¥ | Temel (IR 61| SHFLI Wefd &R IFo[ed 9|

Narendranath had a melodious voice. He saw Sri Ramkrishna first at the
residence of Suresh Mitra.

R FWA NYF 9 o) ol et fega e e ARpRe & (|
OR

Translate into English or Bengali any #wo of the following:
IR < T A T g = areea |

T 9 [TerAsEaRa aws T R

gci faem =1 fquror vt A= 9 qorl

gl o 9 Il TEHl 9 Bl

SERICEES Rkl I{?Nlldcgd‘HH'IClH

IEEIGEIIEINICE R EUECIIECR T Cad

MR T uTd gifer e |
JIOTER T I IRTSTT 9 srera: ||

10
5x2=10
5x2=10



